MONTERINGSBESKRIVNING Y

1936

VX KONFERENSBEN T-FOT M436-2

/ﬁ F6S M8x16 12st/12 pcs. MC6S M8x25 4st/4 pcs. g STRX 5,0x17 16st/ 16 pcs. \

Anvands mellan éverdel och Anvénds mellan ben och fot. Anvands mellan bordsskiva och
ben/sarg/forstarkningsstag/hornbeslag. Galler ej X-fotter. sarg/férstirkningsstag/hérnbeslag.
Used between top and columns, frame, Used between feet and columns. Used between table top and frame,
side reinforcements and corner brackets. Doesn 't apply to X-feet. side reinforcements and corner brackets.
Skruva fast benet pd 18dan, skruva sedan fast foten pa benet och skruva sedan i stillfétterna
i / E i foten.

Screw the column on to the box, then screw the foot to the column and then screw the
adjustable feet to the foot.

MC6S M8x25

F6S M8x16

2020-06-04



MONTERINGSBESKRIVNING

VX KONFERENSBEN X-FOT M436-2

1936

-

F6S M8x50 4st/4 pcs.
Anvands mellan ben och X-fot.

Used between column and X-foot.

/A

Skruva fast benet pa 18dan, ldgg bada delarna av foten pa plats och skurva fast pd benet
och skruva sedan i stadllfétterna i foten.

Screw the column on to the box, put both parts of the foot in place and screw it to the column

and then screw the adjustable feet to the X-foot.

F6S M8x50

F6s M8X16x

 § 7?

_/

2020-06-04



MONTERINGSBESKRIVNING Y

1936
KONFERENSBORDSBEN 1 BENSTATIV »
MED HORNBESLAG M436-2

Kj Skruva fast hérnbeslagen pa Iadan. \

Screw the corner brackets on to the box.

F6S M8x16 77___»
N

=\

i Placera skivan i 6nskad position pa stativet och skruva fast med traskruven.

Place the table top in prefered position on the stand and mount with wooden screws.

STRX 5,0x17

2020-06-04



MONTERINGSBESKRIVNING

KONFERENSBORDSBEN 1 BENSTATIV
MED FORSTARKNINGSSTAG M436-2

1936

Kj Skruva fast forstarkningsstagen pa I&dan.

Screw the side reinforcements on to the box.

F6S M8x16

=\

j Placera skivan i 6nskad position pa stativet och skruva fast med traskruven.

Place the table top in prefered position on the stand and mount with wooden screws.

STRX 5,0x17

_/

2020-06-04



MONTERINGSBESKRIVNING Y

1936
KONFERENSBORDSBEN 2 BENSTATIV
MED FORSTARKNINGSSTAG M436-2

K Skruva fast sargar och férstarkningsstagen pa ladan. \

A Screw the bars and the side reinforcements on to the box.

F6S M8x16

ij Placera skivan i 6nskad position pd stativet och skruva fast med traskruven.

Place the table top in prefered position on the stand and mount with wooden screws.

STRX 5,0x17

2020-06-04



MONTERINGSBESKRIVNING

1936
KONFERENSBORDSBEN 2 BENSTATIV
MED HORNBESLAG M436-2
K Skruva forst fast hérnbeslagen, och skruva sedan fast sargar pa ladan. \

A Sarg monteras forskjutet en halbild. yttersta hdlet anvands foér hdrnbeslaget.

First screw the corner bracket, and then screw the bars on to the box.
The bars is mounted offset a hole image. the outermost hole is used for the corner bracket.

F6S M8x16

ij Placera skivan i 6nskad position pd stativet och skruva fast med traskruven.

Place the table top in prefered position on the stand and mount with wooden screws.

STRX 5,0x17

2020-06-04



MONTERINGSBESKRIVNING Y

1936
KONFERENSBORDSBEN 3 BENSTATIV
MED FORSTARKNINGSSTAG M436-2

alternativt 2 hal i dverdelen i mitten, beroende pa bordsléngd, boxens storlek, éverhang
och eventuell kabelhantering.

K Skruva fast sargar och férstarkningsstagen pa Iadan.Sargarna kan monteras i 3 \

Screw the bars and the side reinforcements on to the box. Bars can be mounted with 2 or
3 screws into the middle box. This depends on table length, size of box, overhang and eventual
cable management.

F6S M8x16

Satt ihop skivorna, skruva at kopplingsbeslagen, insex NW4 och traskruv.
Placera skivan i 6nskad position pa stativet och skruva fast med traskruven.

Put table tops together, and tigthen the fittings, hex key nr4 and wooden screws.
Place the table top in prefered position on the stand and mount with wooden screws.

/

STRX 5,0x17

2020-06-04



MONTERINGSBESKRIVNING Y

1936
KONFERENSBORDSBEN 3 BENSTATIV
MED HORNBESLAG M436-2
K Skruva forst fast hornbeslagen, och skruva sedan fast sargar pa 18dan. Sarg monteras \

forskjutet en halbild. yttersta halet anvands for hdrnbeslaget. Sargarna kan monteras
A i 3 alternativt 2 hal i 6verdelen i mitten, beroende pa bordsléngd, boxens storlek, éverhang
och eventuell kabelhantering.
First screw the corner bracket, and then screw the bars on to the box. The bars is mounted offset
a hole image. the outermost hole is used for the corner bracket. Bars can be mounted with 2 or 3 screws
into the middle box. This depends on table length, size of box, overhang and eventualcable
management.

+

Satt ihop skivorna, skruva at kopplingsbeslagen, insex NW4 och traskruv.
Placera skivan i 6nskad position pa stativet och skruva fast med traskruven.

F6S M8x16

Put table tops together, and tigthen the fittings, hex key nr4 and wooden screws.
Place the table top in prefered position on the stand and mount with wooden screws.

STRX 5,0x17

2020-06-04



	T
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15

	X
	Drawing View16
	Drawing View17

	X1 HÖRN
	Drawing View18
	Drawing View19

	X1 F-STAG
	Drawing View20
	Drawing View21

	T2 F-STAG
	Drawing View22
	Drawing View44

	T2 HÖRN
	Drawing View45
	Drawing View46
	Detail View H (1 : 10)

	T3 F-STAG
	Drawing View24
	Drawing View25
	Detail View B (1 : 11)
	Detail View C (1 : 6)

	T3 HÖRN
	Drawing View47
	Drawing View50
	Detail View B (1 : 11)
	Detail View C (1 : 6)
	Detail View  (1 : 11)


